


The Problem

Labelled Data in Machine Learning
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The Solution

Machine Learning
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Start with unlabeled
Label certain number of
observations

Run one iteration (linear
regression or random
forest common)
Determine Sample(s) to
label

Repeat



When to stop
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Lots of Different Methods

. Query By Diversity Expected Model Greedy
Uncertainty Committee Sampling Change Sampling

Pick Selects the
samples single data
that are point that
expected |appears

to cause most

the informative
largest according
change in |to a specific
the criterion
current

model

upon

being

labeled

I am mainly concerned with
Greedy Sampling

Several Distinct types of
Greedy Sampling (3 main)




Types of Greedy Sampling
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Formulas and Variations

Formulas
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What’s

best?
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Next Steps







